# Division (International) with a Helper Grid Name:
Solve each problem. Answers

) 387 : 3 2 378 : 8 =

3 340 : 4 = 49 887 : 9 =

S 425 : 4 = 6) 576 : 8 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 387 : 3 =129 2 378: 8 =047r2
3 1 129
- -0
038 37
47r2
6 39 2.
27
58 3 85
-127 -15/6
0 2 . 98r5
5. 106 r1l
6 72
3 340: 4 =085 4 887 : 9 =0098r5
-0 -0
34 88
.32 .81
20 77
-12/0 - 702
0 5
S 425 : 4 = 10611 6) 576 : 8 =072
-4 -0
02 57
-0 -15/6
25 16
124 -16
1 0
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